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Use differentials to estimate the value mdicated.

a) ©

b) ©

o

d ©

sirn( 347 )




Use one iteration of the Newton-Faphson method to estimate a root of the equation fx) = 0 starting at

the indicated valie of x.

a) © lgy
b) -8

g © %

e) © %

flx) =1 — 33
x1=2

Find the intervals on which fincreases.

a) (e, -Du(l, =)
b) © (= -1)

c) € (-, %)

dy ¢ (1. =)

e) T (-1.1)

reg=—=

1 +x




Find the critical numbers of /and classify all local extreme valies.
Sy =32 ——

x
a) " Critical no. %4: local min /{ 75 ) = *¥4s.

b) ¢ No critical numbers, no extreme values.

¢) ¢ Crtical no. 0; local min f{0)= 0.

d) ¢ Critical no. 0; local max f{0)= 0.

e) O Critical no. :'_-, local max f{ :'_-, 1= E'Ei"li-

A rectangular garden 98 square feet in area is to be fenced off against rats. Find the dimensions that will
require the least amount of fencing ff one side of the garden is already protected by a barn.

a) © 56 by 7/4 feet
b) 16 by 6 feet
¢) © 14 by 7 feet
d) © 42 by 7/3 feet

e) 13 by 6 feet




The graph of f' (x) 1s shown below. Give the interval(s) where the graph of f (x) is concave down.

a) © (-, -2)U(1, =)
b) © (0.)
¢ C-2.1)
d) © (- 01, =)

e) © (-=.0)




Suppose that ¢ = -3 is a critical number for a function /- Determine if f{c) is a local maximum, local
minitnim or neither i

Frg=-r — 10— 31 x— 30
a) O Local Minimum
b) ¢ Local Maximum

¢)  Neither

Which of the following is true about the graph of /7
Ax)=0r — 18 +0r+1

a) © f{x) has a local minimum at the point ( 5, /5 ).
b) ¢ fix)has a point of inflection at the point (1. 1).
¢)  fx) has alocal maximum at the point (1. 1).

d) ¢ fix)is decreasing on the interval ( IJ . 1)

e) © fix)is increasing on the interval (% . ).




Which of the following is true about the graph of /7
flx) =82+ %—5

a)  fix)has a point of inflection at the point (0, -5).
b)  fix)is increasing on the interval (-, 0).
¢)  flx) has a vertical asymptote at x = 54,
d) ¢ fix)has alocal minimum at the point ( Jg 49).

e) ¢ fix)is concave down on the interval (0, =<).
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Find the largest possible area for a rectangle with base on the x-axis and upper vertices on the curve

y=ﬁ—x2




